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lé
a
to

ir
e
s
R
é
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èr
e
u
n
e
u
rn
e
co
n
te
n
an

t
u
n
e
b
o
u
le

b
la
n
ch
e
et

u
n
e
b
ou

le

n
oi
re
.
O
n
eff

ec
tu
e
u
n
e
sé
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é
su
r

le
co
m
p
te
u
r.

1.
D
ét
er
m
in
er

la
lo
i
d
e
X
.
E
n
d
éd
u
ir
e
la

lo
i
d
e
Y
.

2.
D
on

n
er

E
[X

]
et

en
d
éd
u
ir
e
E
[Y

].

3.
D
on

n
er

la
lo
i
d
e
Z

=
Y
−

X
.
E
n
d
éd
u
ir
e
u
n
au

tr
e
ca
lc
u
l
d
e
E
[Y

].

0
4
.1
8

U
n
e
u
rn
e
co
n
ti
en
t
2
n
b
ou

le
s,

n
b
la
n
ch
es

et
n
ro
u
ge
s.

O
n
ti
re

au

h
as
ar
d
,
et

si
m
u
lt
an

ém
en
t
n

b
ou

le
s.

O
n
ap

p
el
le

X
la

va
ri
ab

le
al
éa
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